

August 5-10, 2025

Exhibitor's Guide & Prize List

Entries will be accepted on Wednesday, August 6th from 4 pm-7pm.

Entry forms at the end of this guide or will be available at drop off.

EXHIBITOR'S RULES AND REGULATIONS

- 1. Entries will only be accepted in the allotted time during the week of Harvey Community days
- 2. The entry fee is \$5 per adult exhibitor, \$3 per child (total price per exhibitor for all of their entries).
- 3. All entries must be listed on the printed forms provided at the end of this manual. If form is missing or if additional forms are needed, they can picked up during drop off times or can be printed from our website https://harveycommunitydays.com/
- 4. The exhibitor must have personally produced the item(s) to be entered.
- 5. All items must have a tag attached with the section, class and exhibitor's number clearly displayed. These tags are provided when entries are accepted.
- 6. Only one item per class, per exhibitor will be accepted.
- 7. Judging will be completed by 5pm on Thursday, August 7th. Exhibits will be on display Saturday, August 9th.
- 8. Any exhibitor wishing to sell any article may attach a price tag (limited to non-edible entries)
- 9. All exhibits must stay on the grounds until Saturday, August 9th. Exhibits are to be picked up between 2-3pm on Saturday.
- 10. Safety of exhibits: The Harvey Community Network will take every reasonable precaution to keep exhibits safe, but exhibitors display their articles at their own risk.
- 11. Prizes will be paid during pick up on Saturday, August 9th.
- 12. All entries of preserves, canning, etc. will be opened for judging.
- 13. No entry shall be given a prize simply because it is the only entry in the class. Therefore, just because a particular prize is offered does mean it has to be awarded without merit. Prizes are awarded based on excellence.

Section 1: Garden Vegetables



Photo by Greg Davidson

Do not wash vegetables, simply brush off excess soil. When selecting vegetables, pay attention to uniformity of size and shape. Produce should be displayed on a plate/tray/etc. strong enough to support its weight.

Class	Description	1 st prize	2 nd prize
Class 1	Cucumber, table, stems attached (3)	\$4.00	\$3.00
Class 2	Cucumber, pickling, stems attached (6)	\$4.00	\$3.00
Class 3	Onions, yellow (5)	\$4.00	\$3.00
Class 4	Onions, red (5)	\$4.00	\$3.00
Class 5	Cabbage, round (2 heads)	\$4.00	\$3.00
Class 6	Carrots, Long (5)	\$4.00	\$3.00
Class 7	Cucumbers, green table (3)	\$4.00	\$3.00
Class 8	Beans, Yellow pod (12)	\$4.00	\$3.00
Class 9	Beans, Green pod (12)	\$4.00	\$3.00
Class 10	Zucchini, green, over 8" (2)	\$4.00	\$3.00
Class 11	Peppers, green or red, (3)	\$4.00	\$3.00
Class 12	Tomatoes, ripe (3)	\$4.00	\$3.00
Class 13	Tomatoes, green (3)	\$4.00	\$3.00
Class 14	Beets, globe, dark red (6)	\$4.00	\$3.00

Section 2: Horticulture

Class	Description	1 st prize	2 nd prize
Class 1	Blueberries, cultivated, 1 quart	\$4.00	\$3.00
Class 2	Blueberries, wild, 1 quart	\$4.00	\$3.00
Class 3	Raspberries, 1 pint	\$4.00	\$3.00

Section 3: Eggs

All eggs must be Grade A (large: minimum 24 ounces per dozen, small: minimum 18 ounces per dozen), shell should not be broken or cracked and normal in shape .Shell must be clean.

Class	Description	1 st prize	2 nd prize
Class 1	One dozen Grade A, chicken, Large size	\$4.00	\$3.00
Class 2	One dozen Grade A, chicken, small size	\$4.00	\$3.00
Class 3	One dozen eggs, other than chicken	\$4.00	\$3.00

Section 4: Canning, pickles, jams and jellies

Jars should be vacuumed sealed; labels should be removed. Entries will be judged on appearance, taste, texture and colour. Only one entry per class, per exhibitor.

Class	Description	1 st prize	2 nd prize
Class 1	Strawberry Jam	\$3.00	\$2.50
Class 2	Raspberry Jam	\$3.00	\$2.50
Class 3	Blueberry Jam	\$3.00	\$2.50
Class 4	Apple Jelly	\$3.00	\$2.50
Class 5	Any other jam or Jelly	\$3.00	\$2.50
Class 6	Maple syrup (clear bottle)	\$3.00	\$2.50
Class 7	Sweet mixed pickles	\$3.00	\$2.50
Class 8	Bread and Butter pickles	\$3.00	\$2.50
Class 9	Dill Pickles	\$3.00	\$2.50
Class 10	Lady Ashburnham pickles	\$3.00	\$2.50
Class 11	Salsa	\$3.00	\$2.50

Section 5: Home Baking

All baked goods must be placed in plastic bags (zippered), display only quantity specified.

Class	Description	1 st prize	2 nd prize
Class 1	White bread, entire crust, small loaf	\$4.00	\$3.00
Class 2	Brown bread, entire crust, small loaf	\$4.00	\$3.00
Class 3	White rolls, 4	\$4.00	\$3.00
Class 4	Sweet bread, no yeast, small loaf	\$4.00	\$3.00
Class 5	White cake, no icing (half)	\$4.00	\$3.00
Class 6	Chocolate cake, no icing (half)	\$4.00	\$3.00
Class 7	Squares, any kind, 4	\$4.00	\$3.00
Class 8	Fudge, any kind, 4	\$4.00	\$3.00
Class 9	Muffins, any kind, 4	\$4.00	\$3.00
Class 10	Rolled cookies, 4	\$4.00	\$3.00
Class 11	Dropped cookies, 4	\$4.00	\$3.00
Class 12	Cinnamon buns, 4	\$4.00	\$3.00
Class 13	Doughnuts, plain, 4	\$4.00	\$3.00
Class 14	Pie, single crust, any kind	\$4.00	\$3.00

Section 6: Junior Home Baking

For ages 16 and under. All baked goods must be placed in plastic bags (zippered), display only quantity specified.

Class	Description	1 st prize	2 nd prize
Class 1	Kids aged 5-12 chocolate chip cookies	\$2.00	\$1.50
Class 2	White cupcakes, iced (3)	\$2.00	\$1.50
Class 3	Chocolate cupcakes, iced (3)	\$2.00	\$1.50
Class 4	Drop cookies, any kind (3)	\$2.00	\$1.50
Class 5	Rolled cookies, any kind (3)	\$2.00	\$1.50
Class 6	Muffins, any kind (3)	\$2.00	\$1.50

Section 7: Handcrafts

Class	Description	1 st prize	2 nd prize
Class 1	Quilt, any design, hand quilted	\$4.00	\$3.00
Class 2	Quilt, any design, machine quilted	\$4.00	\$3.00
Class 3	Any other article hand quilted	\$4.00	\$3.00
Class 4	Any other article machine quilted	\$4.00	\$3.00
Class 5	Knitted Afghan or baby blanket	\$4.00	\$3.00
Class 6	Knitted clothing article (cardigan, dress, etc.)	\$4.00	\$3.00
Class 7	Knitted socks or slippers, any size	\$4.00	\$3.00
Class 8	Knitted mittens	\$4.00	\$3.00
Class 9	Any other knitted article	\$4.00	\$3.00
Class 10	Crochet Afghan or baby blanket	\$4.00	\$3.00
Class 11	Crochet doily, up to 10"	\$4.00	\$3.00
Class 12	Any other crochet item	\$4.00	\$3.00
Class 13	Any embroidery article	\$4.00	\$3.00
Class 14	Cross stitch-any article	\$4.00	\$3.00
Class 15	Any sewing article (cloth garment, apron, placemats)	\$4.00	\$3.00
Class 16	Woodcraft	\$4.00	\$3.00
Class 17	Macrame	\$4.00	\$3.00
Class 18	Jewelry	\$4.00	\$3.00
Class 19	Card making	\$4.00	\$3.00

Section 8: Junior Handcrafts

For ages 16 and under.

Class	Description	1 st prize	2 nd prize
Class 1	Beadwork	\$2.00	\$1.50
Class 2	Jewelry	\$2.00	\$1.50
Class 3	Knitted /crochet article	\$2.00	\$1.50
Class 4	Diamond painting	\$2.00	\$1.50
Class 5	Model building	\$2.00	\$1.50
Class 6	Any other handcraft	\$2.00	\$1.50

Section 9: Fine arts

Class	Description	1 st prize	2 nd prize
Class 1	Original drawing	\$4.00	\$3.00
Class 2	Oil Painting	\$4.00	\$3.00
Class 3	Acrylic Painting	\$4.00	\$3.00
Class 4	Water colour painting	\$4.00	\$3.00

Section 10: Junior Fine arts

Ages 16 and under

Class	Description	1 st prize	2 nd prize
Class 1	Original drawing	\$3.00	\$2.00
Class 2	Painting, Oil or acrylic Painting	\$3.00	\$2.00
Class 3	Water colour painting	\$3.00	\$2.00

Section 11: Camera studies

Class	Description	1 st prize	2 nd prize
Class 1	Landscape 5x7 or larger framed in color	\$4.00	\$3.00
Class 2	Landscape 5x7 or larger framed in black & white	\$4.00	\$3.00
Class 3	portrait 5x7 or larger framed in color	\$4.00	\$3.00
Class 4	portrait 5x7 or larger framed in black & white	\$4.00	\$3.00
Class 5	Any photo 5x7 or larger framed in color	\$4.00	\$3.00
Class 6	Any photo 5x7 or larger framed in black & white	\$4.00	\$3.00

Section 12: Flowers

Class	Description	1 st prize	2 nd prize
Class 1	Zinnias	\$4.00	\$3.00
Class 2	Sunflowers	\$4.00	\$3.00
Class 3	Cosmos	\$4.00	\$3.00
Class 4	Any other flower	\$4.00	\$3.00
Class 5	Marigolds	\$8.00	\$6.00
Class 6	Table center piece	\$4.00	\$3.00

Exhibitor number: _____



One form per exhibitor-please list all entries on the same form. Tag numbers and exhibitor number will be filled out at time of drop off.

Name: _____

Phone number: _____

Entry description	Section	Class	Tag #